bl = B & # X B L
AL TREMER REE AR IR REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B T # %] 2243 1,857 386 1,094 929 165 48.8 50.0 -1.2 22 13 9 21 12 9 95.5 92.3 3.2
54 o 1,131 954 177 487 407 80 43.1 42.7 0.4 12 6 6 11 4 7 91.7 66.7 25.0
ERCE AP 653 569 84 302 225 77 46.2 39.5 6.7 9 2 7 8 1 7 88.9 50.0 38.9
5 bHhX 149 114 35 66 55 11 44.3 48.2 -3.9 2 2 2 1 1 100.0 50.0 50.0
SbHbEKX 65 71 -6 33 38 -5 50.8 53.5 -2.7 1 1 1 1 100.0 - 100.0
SbmK 264 200 64 86 89 -3 32.6 44.5 -11.9 2 -2 2 -2 - 100.0 | -100.0
B2 2 bl 575 415 160 282 214 68 49.0 51.6 -2.6 5 3 2 5 3 100.0 100.0
b= ST ) 109 72 37 74 70 4 67.9 97.2 -29.3 1 1 1 1 100.0 - 100.0
E - 50 52 -2 22 18 4 44.0 34.6 9.4 2 2 2 1 1 100.0 - 100.0
£ ® W 31 55 -24 14 27 -13 45.2 49.1 -3.9 1 -1 1 -1 - 100.0 | -100.0
F R 0™ 19 35 -16 10 26 -16 52.6 74.3 -21.7 1 -1 1 -1 - 100.0 | -100.0
F S ) 53 44 9 40 31 9 75.5 70.5 5.0 - -
m R W 13 13 12 4 8 92.3 30.8 61.5 - -
R W 5 8 -3 3 7 -4 60.0 87.5 -275 - -
5 &1 23 26 -3 5 17 -12 21.7 65.4 -43.7 1 -1 1 -1 - 100.0 | -100.0
wmE AN W 51 24 27 23 13 10 45.1 54.2 -9.1 - -
~ B W 23 36 -13 17 13 4 73.9 36.1 37.8 1 1 1 1 100.0 - 100.0
2 E # 25 17 8 9 22 -13 36.0 129.4 -93.4 - -
£ fF 0wW 14 7 7 5 5 35.7 71.4 -35.7 - -
b= R 37 26 11 10 15 -5 27.0 57.7 -30.7 - -
R AR AT 7 12 -5 2 2 28.6 16.7 11.9 - -
WEME S HT 8 9 -1 7 2 5 87.5 22.2 65.3 - -
& O ER Bk |y 4 8 -4 9 6 3 225.0 75.0 150.0 - -
NNy N i) 9 8 1 3 7 -4 333 87.5 -54.2 - -
B E B EA - - -
& M R 5E B Ay 3 4 -1 2 4 -2 66.7 100.0 -33.3 - -
P FH AR B o0 T 12 7 5 10 3 7 83.3 42.9 40.4 - -
f FH AR 5 % HT 1 1 2 -2 - -
EHEFEERN - - -
AKEBAKFGHET 2 1 1 2 1 100.0 100.0 - -
A K BB 3% K ET 9 1 8 4 1 3 44.4 100.0 -55.6 - -
NS BB 2 o SR T 2 3 -1 4 3 1 200.0 100.0 100.0 1 -1 1 -1 - 100.0 | -100.0
TEH RN 27 20 7 38 9 29 140.7 45.0 95.7 1 1 1 1 100.0 - 100.0




izl E e % & L
AL TREMER IR AR IR IREEER
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R

B F O K 188 173 15 174 179 -5 92.6 103.5 -10.9 1,515 1,271 244 587 507 80 38.7 39.9 -1.2
54 (ITI—) 94 83 11 86 79 7 91.5 95.2 -3.7 779 685 94 262 232 30 33.6 33.9 -0.3

ERCE AP 60 45 15 53 42 11 88.3 93.3 -5.0 444 415 29 155 129 26 34.9 31.1 3.8

5 bHhX 9 7 2 11 8 3 122.2 114.3 7.9 105 85 20 37 32 5 35.2 37.6 -2.4

5 bHEK 4 12 -8 4 13 -9 100.0 108.3 -8.3 46 49 -3 19 22 -3 41.3 44.9 -3.6

SbmK 21 19 2 18 16 2 85.7 84.2 1.5 184 136 48 51 49 2 27.7 36.0 -8.3
B2 % b3 53 37 16 56 45 11 105.7 121.6 -15.9 404 298 106 147 120 27 36.4 40.3 -3.9
b= ST ) 5 11 -6 3 14 -11 60.0 127.3 -67.3 72 47 25 48 29 19 66.7 61.7 5.0
E - 4 1 3 5 1 4 125.0 100.0 25.0 32 33 -1 9 12 -3 28.1 36.4 -8.3
£ ® W 4 5 -1 4 6 -2 100.0 120.0 -20.0 16 29 -13 8 16 -8 50.0 55.2 5.2
F R 0™ 2 2 1 2 -1 50.0 100.0 -50.0 13 15 -2 4 5 -1 30.8 333 -2.5
F S ) 5 4 1 4 7 -3 80.0 175.0 -95.0 35 29 6 25 16 9 71.4 55.2 16.2
5 2 W 1 1 4 4 400.0 400.0 9 7 2 5 2 3 55.6 28.6 27.0
R W 1 -1 1 -1 - 100.0 | -100.0 3 6 -3 3 3 100.0 50.0 50.0
5 &1 2 4 -2 1 -1 25.0 -25.0 8 14 -6 4 13 -9 50.0 92.9 -42.9
wmE AN W 5 4 1 3 2 1 60.0 50.0 10.0 39 15 24 18 10 8 46.2 66.7 -20.5
~ B W 3 6 -3 4 -4 66.7 -66.7 12 24 -12 12 9 100.0 37.5 62.5
2 E W 2 3 -1 2 -2 66.7 -66.7 16 7 9 6 13 -7 375 185.7 -148.2
x fF W 1 1 3 -3 300.0 | -300.0 9 4 5 4 1 3 44.4 25.0 19.4
b= R 1 1 3 -3 300.0 | -300.0 31 23 8 8 10 -2 25.8 435 -17.7
R AR AT 1 -1 1 2 -1 - 200.0 | -200.0 5 10 -5 1 1 20.0 20.0
WEME S HT 2 -2 1 -1 - 50.0 -50.0 3 5 -2 3 3 100.0 100.0
& O ER Bk |y 1 1 - - 3 6 -3 6 1 5 200.0 16.7 183.3
NNy N i) - - 9 6 3 3 7 -4 333 116.7 -83.4
B E B EA - - - -
& M R 5E B Ay 1 1 1 1 100.0 - 100.0 1 2 -1 3 -3 150.0 -150.0
P FH AR B o0 T 2 2 2 2 100.0 100.0 8 3 5 6 1 5 75.0 333 41.7
f FH AR 5 % HT 1 -1 - - 1 -1 - -
EHEFEERN - - - -
AKEBBAKFIHET 1 -1 1 -1 - 100.0 -100.0 1 1 -
A K BB 3% K ET 3 3 1 1 333 - 33.3 5 5 2 2 40.0 - 40.0
NS BB 2 o SR T 1 1 - - 2 2 3 1 2 150.0 50.0 100.0
B BNE 3 -3 1 1 - 333 -33.3 1 -1 2 -2 - 200.0 | -200.0




1 Be B JE: % L
AL TREMER REE AR IR REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B F O K 190 166 24 86 71 15 45.3 42.8 2.5 67 24 43 83 21 62 123.9 87.5 36.4
54 (ITI—) 85 73 12 32 26 6 37.6 35.6 2.0 28 10 18 38 10 28 135.7 100.0 35.7
PR A 43 35 8 24 14 10 55.8 40.0 15.8 18 7 11 28 8 20 155.6 114.3 41.3
SbHHRKX 12 12 5 6 -1 41.7 50.0 -8.3 3 3 5 1 4 166.7 - 166.7
5 bHEK 1 5 -4 1 1 100.0 20.0 80.0 1 1 1 1 100.0 100.0
SbHbEKX 29 21 8 2 5 -3 6.9 23.8 -16.9 6 2 4 4 1 3 66.7 50.0 16.7
B2 2 bl 38 23 15 14 10 36.8 435 -6.7 14 8 6 20 6 14 142.9 75.0 67.9
b= ST ) 7 1 6 6 3 85.7 300.0 | -214.3 4 1 3 4 1 3 100.0 100.0
E B 0w 3 8 -5 1 1 33.3 12.5 20.8 3 3 3 3 100.0 - 100.0
£ ® W 10 15 -5 1 2 -1 10.0 13.3 -3.3 1 -1 -
F R 0™ 3 17 -14 18 -18 105.9 | -105.9 - -
F S ) 6 1 5 1 1 16.7 16.7 1 1 1 1 100.0 - 100.0
m R W 1 1 1 -1 - 1 1 - -
wBOR 0w 1 1 2 -2 - 1 -1 1 -1 - 100.0 | -100.0
5 &1 5 3 2 - -
wmE AN W 1 -1 - 2 2 1 1 50.0 - 50.0
~ B W 3 2 1 1 1 - -
2 E # 3 3 2 1 1 66.7 333 33.4 1 2 -1 1 -1 50.0 -50.0
£ fF 0wW 2 1 1 1 -1 1 -1 - 100.0 | -100.0
b= R 4 1 3 1 2 -1 25.0 200.0 | -175.0 - -
N E A= AT 2 1 1 - -
HMEME S AT 4 2 2 4 1 3 100.0 50.0 50.0 - -
% O Bf 2 E AT 1 -1 1 1 - - -
NNy N i) 1 -1 - - -
B E B EA - - - -
& M R 5E B Ay 1 -1 - - -
P FH AR B o0 T 1 -1 - 1 1 1 1 100.0 - 100.0
f% B AB 5% & A7 1 1 - - -
EHEFEERN - - - -
AKEBAKFGHET 2 2 - - - -
A K BB 3% K ET 1 1 - - -
PN ER & {6 o SR AT - - 1 -1 - -
TEH RN 11 10 1 21 4 17 190.9 40.0 150.9 13 13 13 13 100.0 - 100.0




z ft ) il = B
AL TREMER REE
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R
B T #® O 261 210 51 143 139 54.8 66.2 -11.4
54 (ITI—) 133 97 36 58 56 43.6 57.7 -14.1
PR A 79 65 14 34 31 3 43.0 47.7 -4.7
5 bHhX 18 8 10 6 7 -1 333 87.5 -54.2
5 bHEK 12 4 7 2 5 58.3 50.0 8.3
SbmK 24 20 11 16 -5 45.8 80.0 -34.2
B2 % b 61 46 15 40 30 10 65.6 65.2 0.4
b= ST ) 20 12 8 12 23 -11 60.0 191.7 | -131.7
E - 6 10 -4 2 3 -1 333 30.0 3.3
£ ® W 1 4 -3 1 2 -1 100.0 50.0 50.0
F R 0™ 1 1 5 5 500.0 - 500.0
F S ) 6 10 -4 9 8 1 150.0 80.0 70.0
m R W 2 5 -3 2 1 1 100.0 20.0 80.0
R W 1 1 -
5 &1 8 4 4 1 2 -1 125 50.0 -375
wmE AN W 5 4 1 1 1 20.0 25.0 -5.0
~ B W 4 4 3 3 75.0 75.0
2 E W 3 2 1 1 5 -4 33.3 250.0 -216.7
£ fF 0wW 2 2 1 1 50.0 - 50.0
b= R 1 1 1 1 100.0 100.0
N E A= AT - -
WEME S HT 1 1 -
& O ER Bk |y 1 1 1 4 -3 100.0 400.0 | -300.0
NNy N i) 1 -1 -
B E B EA - -
& M AR 5 TF A7 1 1 1 1 100.0 100.0
P FH AR B o0 T 1 1 1 1 100.0 100.0
[ HB EB 7% & AT - -
EHEFEERN - -
AKEBAKFGHET 1 1 -
A K BB 3% K ET 1 -1 1 1 - 100.0 | -100.0
NS BB 2 o SR T _ _
B BNE 2 6 -4 2 2 100.0 33.3 66.7




